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1,850

= M

O Z0He HE=ALE EAT ZINEAZ(HAA

&) 10,000,000& = 3H 30,000
15,000
15,000

[l

= M

FOAHNF=AIE 28 K& 4,208,888 3,821,945 386,943
,946,221
378,800
883,867

no

= W

307 21201 & 4,208,888 3,821,945 386,943
,946,221
378,800
883,867

no

= W

10 AR SAAEHISSHIEX
O Z0He HE=AIE 2LHI(3MHA)
o = 2,216,513,000& = 1JH A

,208,888 3,821,945 386,943
,208,888
,216,513
,551,559
199,486
465,468
o JiLHE 1,415,999,000& = 1JH A 1,415,999
991,199
127,440
297,360
Gl = &t 576,376,000& = 100 576,376
403,463

51,874
121,039

EY

= H W
O I N

=z N H

= N W

ol 158 - Hegs 29 66,000 66,000 0
28,200
37,800

= M

307 glz2tol & 66,000 66,000 0

28,200
Al 37,800

t

05 22t & =3 66,000 66,000 0
O Hoe 05 - MEgE 226200 2) 66,000




AN el 04t
PN

H: Mo SXNSA(MIASR/HAAHNENE)
o Zoe sXAME & SN N2 EERE=E))
SA - BB B () - MM - BES Ol &t o San HmEET
o 158 29 50,000,000& * 14l 50,000
< 25,000
Al 25,000
o HEgsg 29 16,000,000& * 14 16,000
< 3,200
Al 12,800
o olEAE 29 XN 4,737,891 4,015,082 722,809
< 875,615
Al 3,862,276
201 £Br2%H| 15,800 9,600 6,200
01 At 22l 15,800 9,600 6,200
O et==ZH| 200
o Fife=XE =548 2A3s =9 A
100,000& =+ 23l 200
O 2g=¢ 15,600
o MUAY WEHE AY LHIT2 MAL
g 5,000,000& = 14 5,000
o BOjUSNND +HHABAAS HA £g
100,000& * 109 1,000
o HFHESNE =AY A
=g 100,000& = 8H = 123l 9,600
307 21201 A 4,722,091 4,005,482 716,609
= 875,615
Al 3,846,476
05 BIZERI & 3 1,654,609 1,539,088 115,521
O Zoersg=sExa 22d X3
1,363,709,000& * 1JHA 1,363,709
< 232,451
Al 1,131,258
O Bl =sagXNdde 249
155,000,000& * 14 155,000
O ZOeIN=EXNJAEH 24
135,900,000& * 1JH A 135,900
< 51,000
Al 84,900
10 M2 SXNANEHE2IHEX 3,039,482 2,466,394 573,088
O ZOoHo MNAWEBAAE 2HHI(4H2) 1,319,737
o SFHAHAER 601,210,000& * 1JH A 601,210
< 107,563
Al 493,647
o Hx=ZE2sxEH
37,684,000& * 10H A 237,684
< 42,524
Al 195,160
o SZH=ER 251,350,000& * 1JH 2 251,350
< 44,969
Al 206,381




AN el 04t
PN

HE: FHO BASH(MSSX/HANET )
S o SXAE 2 SH XA (2 &HH)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
S O ZNUMEND T
229,493,000& * 10 A 229,493
== 41,058
Al 188,435
O Z0Hel =22 SAIE 29H|(5HA) 1,031,945
o AFEO0l JISst &  185,666,000& * 100 A 185,666
== 33,420
Al 152,246
o ME EADBAHL
275,662,000& * 10 A 275,662
== 49,619
Al 226,043
o X212 196,579,000 * 104 A 196,579
o= 35,384
Al 161,195
o Z0|&H 155,582,000& * 104 155,582
= 28,005
Al 127,577
o SHMFEAZSHE 218,456,000& * 100 A 218,456
& 39,322
Al 179,134
O I=ANTHAIMHOSXAME 2
230,000,000 * 10 A 230,000
= 46,000
Al 184,000
O Gl 20{SAHE 29
200,000,000 = 10 A 200,000
= 40,000
Al 160,000
O KNHMEOWR HOYAIE XNJHEH 29
48,000,000& * 100 A 48,000
o= 13,400
Al 34,600
O AZEOWMR JIEHAJHE 29
130,000,000& * 14 130,000
o= 26,000
Al 104,000
O ZOHQ OIBAIE BAK SEAY
79,800,000& * 14l 79,800
o= 39,900
Al 39,900
11 A EXAIEEX 28,000 0 28,000
O HjeEse=EXa 2234 A
1,500,000& = 12& 18,000
O &0 =0ua s T)d 29
10,000,000& = 14 10,000
& 5,000
Al 5,000
O QIR ME X AME X 155,470 159,900 4,430
= 62,188




2N

g Zojel %XI%E(MSIEII/HOU#I X&)
ol FOHOl SXAIM U G K (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 27,985
Al 65,297
307 glz2tol & 165,470 159,900 A4,430
= 62,188
= 27,985
Al 65,297
10 ALSISXAIEEE 22X 155,470 159,900 A 4,430
O ZHAXNSHSRRAME X
155,470,000& = 1JH A 155,470
= 62,188
= 27,985
Al 65,297
NI SHMEXAMEH XA (=) 10,022 0 10,022
< 3,572
Al 6,450
307 glz2tol & 10,022 0 10,022
< 3,572
Al 6,450
10 ALSISXAIEEE2EH EX 10,022 0 10,022
O ZOHIXSHMEXAHE XA (=Hl)
10,022,000 * 14 10,022
< 3,572
Al 6,450
stdAlE 2EX& 783,680 783,661 19
= 548,576
= 235,104
307 glz2tol & 783,680 783,661 19
= 548,576
< 235,104
0O MBIETAELEHE2ZHIES 783,680 783,661 19
O BHUAE(HYBOARAL) 2|
783,680,000& * 14 783,680
= 548,576
< 235,104
SHUIAIE 2 XA (<Hl) 17,640 17,640 0
< 8,820
Al 8,820
307 glz2tol & 17,640 17,640 0
< 8,820
Al 8,820
10 AL SXAIEEE2EH EX 17,640 17,640 0
O SHAIAIE (NS EOIQAA) BSALR SE2
17,640,000& * 14 17,640
= 8,820
Al 8,820
Zopel =X X 159,650 134,950 24,700
307 21201 A 159,650 134,950 24,700




AN el 04t
PN

H: Mo SXNSA(MIASR/HAAHNENE)
o Zoe sXAME & SN N2 EERE=E))
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
02 RIZFE MM E X 47,650 43,650 4,000
O XNHMEMHUEIIHFRS RES4L 2
3,000,000& = 14 3,000
O MAHBHASNEHLR R R22MA 29
3,500,000& * 14 3,500
O ANZEHUAESIHE=RE REsS4ML 29
1,500,000 * 14 1,500
O MEBHAHS KT 22344 29
1,500,000 * 14 1,500
O SOlEsI4NS 22244 29
2,000,000& * 14 2,000
O L2 EQLESM(HMHAR2HMU)
5,000,000& = 14 5,000
O ATY CIYAA X BB 24 Ha
2,000,000& * 14 2,000
O &M S X
7,600,000& * 14 7,600
O MAZOMSS & 1A
2,000,000& * 14 2,000
O AgZoe &M X
3,600,000& * 14 3,600
O Zofel JIsdIua(d=2, &)
2,700,000& = 14l 2,700
O &= HO0He HOIEZWE 900,000& * 14 900
O &g HZoHe stots tHEM S
1,200,000 = 14l 1,200
O Mg 2 AZel2s 3,000,0008 * 14 3,000
O XNHMEOHI & At 1,800,000 * 14! 1,800
O s0telo & @At 1,350,000 * 14 1,350
O M393 ddT HOHS & A
5,000,000& = 14 5,000
03 RIZIEHHEE2HHIEX 44,500 44,500 0
O (MXMEUAES Ha=AKXE 2|
12,000,000& * 14 12,000
O (ADAMBOMA=EXZ H=AKXIE 2HHI
12,000,000& * 14 12,000
O (ADAIZEOIASS X3 22t
6,600,000& = 14 6,600
O (A)=0telgsl ox=AXE 22l
13,900,000& * 14 13,900
11 AIS S RAEE = 67,500 46,800 20,700
O XNHMEHCES SAXIYE 25X
5,000,000& = 14 5,000
O MHEMA=RS SAXE 5K
5,000,000& = 14 5,000
O B2 ANHZOC OISR SAXE SA
= X& 5,000,000& = 14 5,000
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SH: ol E Ol Dt
Hay: = SR(AMSIZT/HAANST )
al

3 N
gelr ¥ XAE & Al & (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

O Aol =01 S3H ALK
3,500,000& = 14 3,500

Heda A8 2,000,000 880,000 1,120,000

= 1,000,000
Al 1,000,000

401 AIEHIZ 2 I 2,000,000 880,000 1,120,000

1,000,000
Al 1,000,000

H

01 A& HI 2,000,000 859,848 1,140,152

O HYHY T

[l

22

2,000,000,000& * 14 2,000,000
1,000,000
Al 1,000,000

lton

£

0

H

ZOHQ! SHH X (=) 115,000 0 115,000
57,500
Al 57,500

M

307 glz2tol ™ 115,000 0 115,000

57,500
Al 57,500

t

qEx 60,000 0 60,000
SZN XNs =208 X
60,000,000& = 14l 60,000

30,000
Al 30,000

ARSI S XA E X 55,000 0 55,000
O eZe Aastez 228 &
40,000,000& = 14l 40,000

20,000
20,000

H

= M

O L2ZMY ASIFEH ns=Z27d X

15,000,000& = 14 15,000
7,500
7,500

=

sl BN JIs22 1,238,000 0 1,238,000

619,000
309,500
309,500

= N H

402 2I2tX201 & 1,238,000 0 1,238,000

619,000
309,500
309,500

= N H

02 QX =2AMAEE(0IATHE) 1,238,000 0 1,238,000
H

1,238,000,000& * 14| 1,238,000
619,000
309,500
309,500

= W




PSSl %XI%E(MSIEII/HOU#I INEED)
ZOHel EXAIE & S X (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ZOHQIHFAIAE LEDE X 6,335 0 6,335
2 3.168
& 1,584
Al 1,583
402 BI2H X 20| M 6,335 0 6,335
= 3,168
= 1,584
Al 1,583
02 CIZEXIE A EX (0| XM THL) 6,335 0 6,335
O &I HZF=AIE LED & X
6,335,000& = 1A 6,335
2 3.168
& 1,584
Al 1,583
HAHMSHAY| (LI ZOo eI ) (DIEH/ DIE) 181,707 162,236 19,471
ol 2HH| 98,648 76,827 21,821
oled 2| 98,648 76,827 21,821
101 e1214| 98,648 76,827 21,821
01 B4 7,718 8,811 AN 1,093
O gexsd 22X 5422+ 7,718
o 62 91,648 x 18 » 30¢ 2,750
o 73 82,786& * 2% x 30€ 4,968
03 RIAHEZZXE = 90,930 68,016 22,914
O A2t 282% 33,537
o IpAZ(BEIXHe)
9,062 * 2% x 20AI2F x» 128 * 150% 6,525
o <L>AZ2 (A SHHHH)
11,9732 » 3% = 20Al2F = 128 * 150% 12,931
o <L>EZ(AZAMESRA)
12,1132 « 1 x 20AI2F = 128 x 150% 4,361
o <CH>XZ(FAXHLHA)
13,500& * 2% * 20AI2F = 128 x 150% 9,720
O §d22H 55,293
o StAZE 2 165,657& * 2% x g7 22,199
o SI&E FFHA
135,636 * 3% » 53 21,567
o 24X 22 108,740 * 2% * 53 11,527
O g922a 2HE(Z2R2) &A=
150,000 = 79 * 23| 2,100
Jl2 &l 83,059 85,409 A2,350
Jl2&H| 83,059 85,409 A 2,350
201 2Bt2 Y| 51,469 54,252 ~2,783
01 AP 22| d| 51,469 54,252 A2,783
O dBt=2H| SHHA 30,465,000& = 14! 30,465
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A 1,067
A 1,067

1,500
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H3r
Wikd
RIS

26,957
26,957

4,200
4,200

Off &t 24

21,004

25,890
25,890
25,890

5,700
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5,700
3,600
2,100
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25,890,000
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